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1 KROFHEZ LRSIV,
(1) 3x(2x+y)
=3xx2x+3xXy

=62°+ 32y

(3) (x—3y)x(-2y)
=xX (-2y)-3yx(-2y)
= - 20y +6y°

(5) (122°-102xy) + (—22)
-2x
_122°  10xy

a 2x " 2x

= —-6x+5y

2 ROXZREMLZ SV,
(1) (x+5)(y—2)
=xy—2x+5y—10

(3) (2x+y)(x—3y)
=22 —6xy+ 2y — 3y
= 22" —5xy— 39"

(6) (vx+y)(2x+y-1)
=w(2r+y-1)+yQu+y-1)
=20+ xy—w+2ry+y -y

=22 +3wy—w+y' -y

(2) —-3a(2a-5b)
=—3ax2a—-(—-3a)xX5b
=—-6a’°+15ab

(4) (6ab+3b)+3b

_ 6ab+ 3b
3b

_ 6ab +ﬁ
3b 3b

=2a+1

6) (—6a°—9ab) =+ (—3a)
- 6a*—9ab
-3a

6a* N 9ab

3a 3a
2a+3b

(2) (2a-3)(a+1)
=2a’+2a—-3a—-3

=2d*-a-3

(4) (3a-b)(2a—3b)
=6a’—9ab—2ab+3b*
=6a’—11ab+3b*

(6) (2a+3b-4)(a-b)
=(2a+3b-4) xa— (2a+3b—4) xb
=2a’+3ab—4a—2ab—-3b"+4b
=2a’+ ab—4a-3b"+4b




3 ROXZEMLZZ WV,

(1) (x+D(x+3) (2) (x—3)(x+2)
=22+ (1+3)x+1x3 =22+ (=3+2x+(-3) x2
=2 +4x+3 =2’ —x-6

(3) (a+5)(a—4) 4) (a-1)(a-5)
=a’+ (5-4)a+5x(—4) =a’+(-1-5)a+(-1)x(=5)
=a’+a-20 =a*—6a+5

(5) (x+2)* (6) (a—5)*
=2+ 2% 2X x+2° =a?-2xX5%X a+5°
=2’ +4x+4 =a*-10a+25

12 3\2

o (o3 o (o)

2 2
-4 R
=y2*y+% =a2+3a+%

1 1
9) (a—4)(a+4) (10) (x+I>(x_I)
=a2—42 1 2
[
=a’-16 - (4)
_ o2 1
BT
4 ROXZERLZ S\,

(1) (3a+2)° (2) (5x+1)(5x+2)
=(3a)’+2x2x3a+2° =(5Ba)%+ (1+2)x5x+1%2
=9a°+12a+4 =252%+ 1520 +2

(3) (3y—1)(3y+5) (4) (3a—4)(3a+4)
=(3y)*+ (-1+5)x3y+(-1) x5 = (3a)*— 4
=9y +12y -5 =9a’-16

(5) (2x-3y)* 6) (2a+5b)(2a—5b)
=(22)"-2x 3yx2x+ (3y)* = (2a)*— (5b)*

=42° - 122y + 9y =4a*-25b°



5 RONZEMLZI WV,

(1) (a+b+2)? (2) (x+y—4)(x—y—4)
a+b=M & B L, x—4=M B L,
(a+b+2)"=(M+2)* (x+y—4)x—y-4)=M+y)M-y)
=M*+4M+4 =M*—y
M%Za+b IZRT &, Mzx—4 \ZRT &,
M*+4AM+4=(a+b)*+4(a+b) +4 M- y'=(x—4) -y
=a*+2ab+ b +4a+4b+4 =2 —8x+16—4°

(3) (x+2y+1)(x+2y—2)
x+2y=M & B L,
(x+2y+1)(x+2y—-2)=M+1)M-2)
=M"-M-2
MZx+2y \ZRT &,
M*~M-2=(x+2y)*— (x+2y)-2
=2 +4ry+4y - —2y—2

6 KOEHEZLZIV

(1) (a-3)(a+2)+ (a+2)* (2) (x=3)(x+5)—(x—4)(x+4)
=a’—a—6+(a’+4a+4) =2’+2x—-15—- (2*-16)
=a*-a—6+ad’+4a+4 =2’ +2x-15-2"+16
=2a*+3a—2 =2x+1

3) (2x+y)(2x—y) — (x+2y)(r—2y)
=42°— ' — (2*—49%)
=42°— ' — P+ 4y°

=32+ 3y

T RONZRBIIHL %R E v,

(1) 4ax+8ay (2) 3xy—6x
=4a(x+2y) =3x(y—2)
(3) 22°y+4xy (4) 3a’b—2ab*+ ab

=2xy(x+2y) =ab(3a—-2b+1)



8 ROXZWEIIMHL %S\,

(1) 2+7x2+10 (2) 2+10x+21
=(r+2)(x+5) =(x+3)(x+7)

(3) a*+a—12 (4) y*-2y-24
=(a+4)(a-3) =(y+4)(y-6)

(5) a*—15x+56 6) 2*+2x—72
=(x-7)(x-8) =(x+9)(x-8)

(7) @*+10a+25 (8) y*—16y+64
=a’+2%x5% a+5° =y —2x8x y+&
=(a+5)° =(y-28)

9) 16— 0 gt
=4 —a’ B
= (4+a)(4-a) ‘y‘<5)

v+ )lo-3]
9 ROXNZHEBIMHEL % S\

(1) 2*y-4y (2) 322+12x-15
=y(a*—4) =3(2*+4x-5)
=y(x+2)(x—-2) =3(x+5)(x—1)

(3) 5y°—10y—40 (4) 200a*-20*
=5(y*—2y—8) =2(100a*— b%)
=5(y+2)(y—4) =2(10a+b)(10a—b)

(5) 9a4*—30x+25 (6) 162" +48xy+ 36y
= (32)*—2Xx5x3x+5 =4 (42" + 122y +9y°)
= (3x—5) =4{(22)*+2x3yx2x+(3y)}

=4(2x+3y)*
10 ROKXA KRB L %2 S,

(1) (z+2)*+(x+2)-56 (2) (a+b)*-16

x+2=M & B L, a+b=M & B L,
(x+2)*+(x+2)-56=M"+M-56 (a+b)*—16=M*-16

=M+8)(M~-T7) =(M+4)M-4)
M%za+b IZRT &,

(M+4)(M-4)= (a+b+4)(a+b—4)

M%x+2 IZRT &,
M+8)M~-7)=(x+2+8)(x+2-7)
=(x+10)(x—=5)
(3) 4(x—y)*—12(x—y)+9
x—y=M & 5L &,
A(x-y)-12(x—y)+9=4M"~12M+9
=(2M-3)*
M%Ezx—y \ZRT &,
(2M-3)*={2(x—y) -3}
=(22-2y-3)°
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ROX % KB L 7% S

(1) x(2y-3)+4y—6
=x(2y—-3)+2(2y-3)
=(x+2)(2y-3)

(2) ab—3a+2b—6
=a(b-3)+2(b-3)
=(a+2)(b-3)

(3) 2*+2xy—3x-6y
=x(x+2y)-3(x+2y)
=(x-3)(x+2y)

ROX%E, TRLUTEHELLZ SV,
(1) 201°
=(200+1)*
=200"+2x1x200+1°
=40401

(2) 55°—45°
= (55+45) x (55—45)
=100x 10
=1000

(3) 102x98
=(100+2) % (100—-2)
=100*—2°
=9996



